Total No. of Questions : 5] SEAT No. :

P1185 [Total No. of Pages : 2
[4963] Ext. - 501
S.Y. B.Com.
BUSINESS COMMUNICATION
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) What is Communication? Explain nature and principles of Business
Communication. [20]

OR

What is Non-Verbal Communication? Explain the merits and demerits of
Non-Verbal communication.

02) What is Listening? Explain various type of Listeners. [20]
OR

What do you mean by business letter? Explain the physical apperance of
Business letter.

03) a) Write a Complaint letter to Sales Manager, R. K. Electronics Ltd, Pune,
about received damaged goods. [10]

OR

Write an Appointment letter from Swagat Traders, Karad to Mr. Santosh
Bhosale, Pune as he is appointed as Sales Manager.

b) Drafta Sales letter to promote the Sale new Motar Car in the Market.[10]
OR

Write a circular letter to their clients from Ashok Patel and company,
Jalgown for shifting of office in new place.

PTO.



Q4) What is Social Media Network? Describe the role of various sources of

Social Media Network. [20]
OR
What is an office order? Explain the essential points while drafting office
order.
05) Write short notes (Any four) : [20]

a) Group discussion

b) Office memo

c) Sources of status enquiry
d) Series of collection letters
e) E-mail

f) E.C.S.
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Total No. of Questions : 8] SEAT No. :

P1187 [Total No. of Pages : 2
[4963] Ext. - 503
S.Y. B.Com.
BUSINESS ECONOMICS - 11 (MACRO)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1)  Question No. 1 is compulsory.
2) Attempt any ‘Five’ from question No. 2 to 8.
3) Figures to the right indicate full marks.
4) Draw neat diagram wherever necessary.

Q1) Define macro Economics. Explain the scope significance & limitations of
macro Economics. [20]

(Q2) What is the credit control? Explain the quantitive and auditative credit controls
of Central Bank. [16]

03) Explain the causes and effects of Deflation. [16]
Q4) Cretically examine the Cash Balance approach of value of money. [16]
05) Explain the monetary and fiscal measures to control Trade cycles. [16]

Q6) Answer in brief : [16]
a) Explain the circular flow of national Income (Two sector model).

b) Explain the cause of increasing public expenditure.
Q7) Explain the keynesian criticism on classical employment theories. [16]

08) Write short notes : [16]
a) Difficulities in measuring National Income.

b) Principle of maximum Social Advantage (Dr. Dalton’s Approach)

PTO.



Total No. of Questions : 8]

P1187

gez : 3 ard]
gerar .~ 1)
2)
3)
4)

[4963] Ext. - 503
S.Y. B.Com.
BUSINESS ECONOMICS - 11 (MACRO)

(2013 Pattern)
(TS EATR)
[Tegor 7o7 : 100
eI T97 ST HTg.
TvT SHTHTE 2 @ 8 qTd1 FHIVIATET Gre I TISl.
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[20]
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AT T . [16]
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gy7 5) AUR sk Aol SreHfaws o TR dnea Tg o, [16]
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Total No. of Questions : 5] SEAT No. :

P1188 [Total No. of Pages : 4
[4963] Ext. - 504
S.Y. B.Com.
BUSINESS MANAGEMENT
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  Figures to the right indicate full marks.

Q1) Define Business Ethics. Explain the detail scope and principles of Business
Ethics. [20]

OR

Define motivation. Explain characteristics and importance of Motivation.

Q2) What do you mean by delegation of authority? Explain various principles
of delegation of authority. [20]

OR
Define staffing. What are the nature & importance of staffing.

03) What do you mean by the term ‘Scientific management’? Explain the
scientific contribution of F.W. Taylor in the development of scientific
management thought. [20]

OR

What is Decision making? Explain the various steps in Decision making.

Q4) Explain the barriers to communication and suggest the remedies to overcome
the barriers. [20]

OR

Define control. Explain the characteristics and steps in the process of control.

PTO.



05) Write short notes (Any Four) :

a)
b)
c)
d)
e)
f)

Levels of planning

Need of Co-ordination
Management of change
Essential qualities of leadership.

Features of Management.

process of Disaster management.

[4963] Ext. - 504 2
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Total No. of Questions : 5]

P1188
[4963] Ext. - 504
S.Y. B.Com.
BUSINESS MANAGEMENT
(2013 Pattern)
(FET wUTaR)
da : 3 ard] [ wgor 7oT - 100

ot i~ 1) ad T97 TSII0 STav T,
2) IwdiwESleT ik gur ur FIifaara.

gy 1) =amaares fAfarm o s ? smaatRes fAfaums=t s 9 9 afeem e
. [20]

feRart
AR sareaT 20, AR #gea 9 Sfvtsl |,

gy72) ATURR TS TFUTA 1T ? ATUARR TTHTH ded T . [20]
TeRar
wHO Fgeht o w1 ? wHe e e 9 wge g,

97 3) VITEE SHEEATIA TZUNS i ? Uh. $50g. ol IATdl ITE1E STaETIAT Heftel Tie
Y w1 [20]

feRar
Tivta o @ ? i afsrade fafaa oo @ =,

97 4) FEIAEATA NSUD WA, WA SUS G HUATHTS [T JUTH AT Gral.
[20]

e
T o w7 =R afvreRr @ FeEvre ufRRde e Ty .



gy 5) oigeEmE feur forgr. (Wil =) [20]
o) TS uTaeEn
q) WHEATE! ATETHRAT
®) TEATS SHAEATIA
T) ATETETE AR HATavaeh 07
3) oHERUUATE SfvTe
W) IO SHEEATIATE Sk
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Total No. of Questions : 5] SEAT No. :

P1189 [Total No. of Pages : 3
[4963] Ext. - 505
S.Y. B.Com.
ELEMENTS OF COMPANY LAW
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) Define “Company”. Explain the salient features of Company’s Amended
Act 2013. [20]

02) What is “Articles of Association of Company? Explain the contents of Articles
of Association of Company. [20]

OR

Explain in detail the various stages in formation of Company.

03) a) What is E-Governance? Explain the Advantages of E-Governance.[10]

b) Distinction between managing Director and Manager. [10]
OR
a) Explain the social Responsibility of company. [10]

b) Explain the provisions of section 253 to 269 of Amended company
Act 2013 regarding revival and re-habilitation of sick companies. [10]

04) Explain in detail the powers, duties and liabilities of Director. [20]

PTO.



05) Write short notes on (Any two) :

a)
b)
c)
d)

E-filling
Whole Time Director
Provisions for valid Meeting

Compulsory winding up of Company

2
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Total No. of Questions : 5]

P1189
[4963] Ext. - 505
S.Y. B.Com.
ELEMENTS OF COMPANY LAW
(2013 Pattern)
(TS TUTR)
Je : 3 arm@] [ wgor 77o7 - 100

gEar:— 1) @ gv7 HfHard Sizd.
2) @ FIFIIT GHEIT T AHTEA.
3) @gurardt gw st gvaafaHT ggrel.

gy7 1) ‘SRudl’ SaTEA =0, Ut wrEer 2013 s srfaframeh yge afvres we w0, [20]
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HUAT Tl fafay staven aferar wE w1,
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gy 5) fem fergr. (wivremd 29) [20]
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Total No. of Questions : 5] SEAT No. :

P1190 [Total No. of Pages : 4
[4963] Ext. - 506
S.Y. B.Com. (Paper - I)
BUSINESS ADMINISTRATION
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.
2)  All questions carry equal marks.

Q1) Define Joint Stock Company. State the merits and demerits of Joint Stock

Company. [20]
OR
Define Administration. Explain the functions of Administration. [20]
02) Explain the factors affecting the Plant location of business unit. [20]
OR
Explain the components of external business environment. [20]
03) a) Explain the measures to boost productivity. [10]
b) State the objectives and importance of Quality Control. [10]
OR
a) State the advantages and disadvantages of Business Process Outsourcing.
[10]
b) What are the consequences of Liberalisation? [10]

Q4) Explain the various laws affecting the operations of Business in India. [20]
OR

What is Industrial Sickness? Explain the causes of Industrial Sickness. [20]

PTO.



05) Write short notes on: (Any four) : [20]
a) Board of Industrial and Financial Reconstruction (BIFR)
b) ISO 9000
c) Social Responsibility
d) Globalisation
e) Aids to trade

f)  Limited liability Partnership

363838
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Total No. of Questions : 5]

P1190
[4963] Ext. - 506
S.Y. B.Com. (Paper - I)
BUSINESS ADMINISTRATION
(2013 Pattern)
(FS EaTR)
da : 3 ard] [ wgor 7oT - 100

gaar:— 1) @ 97 TS0 H1avas 3Tz
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e
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[20]

[20]

[20]

[10]
[10]

[10]
[10]

[20]

[20]
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Total No. of Questions : 5] SEAT No. :

P1191 [Total No. of Pages : 4
[4963] Ext. - 507
S.Y. B.Com.
BANKINGAND FINANCE (Special Paper - 1)
Indian Banking System - I
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the role of Banking System in Indian Economy. [20]
02) Explain the Functions and Progress of NABARD. [20]
OR

Explain the progress and performance private sector Banks in India after
1969.

03) a) State the progress of State Bank of India. [10]
b) State the progress of Regional Rural Banks. [10]

OR

a) What are the functions of primary Agricultural co-operative credit
societies?

b) State the recommendations of Narshimhan Committee — 1(1991).

(Q4) Explain the functions of Reserve Bank of India. [20]

PTO.



05) Write the Short Notes on (any two) :

a)
b)
C)
d)

Urban co-operative Banks.

Management of Non Performing Assts (NPA’s).

Principles of co-operation.

Debt Recovery Tribunal.

2
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Total No. of Questions : 5]
P1191

[4963] Ext. - 507
S.Y. B.Com.
BANKINGAND FINANCE (Special Paper - 1)
Indian Banking System - I
(2013 Pattern)
(FS TaTR)
d= : 3 ard] [ wgor 7poT - 100
o :— 1) @ 997 Qislav smavas .
2) ITAIHSTT HF T FIIAATA.
3) @YIaTS? Y@@ FUSH TIAaIAET TETal.
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gy 5) feun fergr. (wivreatdt SH) [20]
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Total No. of Questions : 5] SEAT No. :

P1192 [Total No. of Pages : 4
[4963] Ext. - 508
S.Y. B.Com.
BUSINESS LAWS AND PRACTICES -1
(2013 Pattern) (Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Explain the following Terms under The Law of Insurance : [20]
a) Insured
b) Insurance Premium
c¢) Double Insurance

d) Re-insurance

02) What is Marketing Board? Explain the functions and powers of state
Marketing Board. [20]

OR

Explain the term 'Life Insurance Policy'. Describe the procedure of Life
Insurance Policy.

03) a) State the difference between Life Insurance and Fire Insurance. [10]
b) Describe the principles of Marine Insurance Policy. [10]
OR

a) Define 'Partnership' under partnership Act-1932 and explain the
Reconstitution of partnership firm.

b) Explain the concept of "Closure and Re-starting" under the Industrial
Dispute Act. 1947.

PTO.



04) Define 'Co-operative Society' under Maharashtra Co-operative Societies
Act. 1960 and explain its features. [20]

Q5) Write short notes on (Any two) : [20]
a) Contract of Fire Insurance.
b) Registration procedure of Co-operative society.
c¢) 'Layoff and Retrenchment' under Industrial Dispute Act. 1947.

d) Features of Partnership.

363838
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Total No. of Questions : 5]

P1192
[4963] Ext. - 508
S.Y. B.Com.
BUSINESS LAWS AND PRACTICES -1
(2013 Pattern) (Paper - 1)
(FS EaTR)
3% : 3 ar] [T 7or : 100

FeAr:— 1) & 97 STavad .

2) IFFIHSIT 3k TIAIR Ul JOT FeIfaara.
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Y . [20]
gy 5) engerta dur fogt. (et 2e) [20]
) STaHTERR

) EgHN FEIE AGUiie UG
&) 3itenfires ferame wmaer 1947 e “‘wmEdt it TR suma .
T) WhEWET AfSTsT.

363838

[4963] Ext. - 508 4



Total No. of Questions : 9] SEAT No. :

P1193 [Total No. of Pages : 4
[4963] Ext. - 509
S.Y. B.Com.
CO-OPERATION AND RURALDEVELOPMENT
(2013 Pattern) (Special Paper - 1)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  Question No. 1 is compulsory.

2) Solve any five questions from the remaining questions.

Q1) Explain the main provisions of Bombay provincial Co-operative societies
Act 1925. [20]

02) Explain the need and objectives of Multistate Co-operative Societies Act
[16]

03) Explain the provisions of Maharashtra State Co-operative Societies Act.
1960 regarding Management and Supervisions of Co-operatives. [16]

04) Explain the progress and problems of sugar factories in India. [16]

05) Discuss the comparative features of individual approach and group approach
of rural development. [16]

06) Give a brief outline of thought and work of Mahatma Gandhi in rural
development. [16]

PTO.



Q7) Explain the role of Panchayat Raj System in rural development in India.
[16]

08) What is Globalisation? Explain it's effects on rural development in India.
[16]

09) Explain the views and work of Dr. Dhananjayrao Gadgil in rural
development. [16]

2
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Total No. of Questions : 9]
P1193

[4963] Ext. - 509
S.Y. B.Com.
CO-OPERATIONAND RURALDEVELOPMENT

(2013 Pattern) (Special Paper - 1)
(FET wUTaR)
da : 3 ard] [ wgor 7oT - 100
gaar:— 1) 97 . 1 @isiavl snavass 3iTg.
2) HvT . 2 @9 bl HIvrdgt grer gy @isar.
3) @gurardt g@ sut gvaafaeT ggrel.

g7 1) HaE TATET UghRl TEAT haearedl TIE aigal g . [20]

97 2) SEUSA UEhRl HEAT AT TS AT ITETA T . [16]

797 3) WENIY U UghRl Gl Tet, 1960 Wefiet Tgenill HETel STae U ST11uT qaaeTor
waeft g T w0 [16]

g97 4) MRATAA Agehil ARG HhIERATE Wt ST THEm Ty . [16]

Ty7 5) neior TRt Jafthe gERRM STTUT e gEIRMTEAT qerTeHeh afvTReTel @
. [16]

gy 6) wgTedt mieft Frean arHio faerraraEet fomm anfor s ensema Wt =@,
[16]



97 7) WRATAA ATHOT forehmameier Uemera T saaeeret YiHent T8 . [16]

g97 8) WTIhIehIul TZUTR shid ? WRATd el UTHiuT ferehramedie wamen afurmm o <.
[16]
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Total No. of Questions : 6] SEAT No. :
P1194

Time : 3 Hours]

[Total No. of Pages : 4
[4963] Ext. - 510
S.Y. B.Com.

COST AND WORKS ACCOUNTING (Paper -1)

(2013 Pattern)

[Max. Marks : 100

Instructions to the candidates:

1)
2)
3)

Q1) a)

b)

All questions are compulsory.

Figures to the right indicate full marks.

Use of calculator is allowed.

Fill in the blanks : [5]

i)
ii)

iii)

1v)

V)

helps the management in decision making.

Job is the assessment of the relative worth of jobs within
a company.

Maintaining attendance register is the most simple and economical
method of

costs are objective in nature.

Lubricant used in factory workshop is the example of
materials.

State whether the following statements are True or False : [5]

1)
if)
iii)
iv)

V)

Bin card is maintained by store keeper.

High labour turnover indicates instability of work force.
Sales Promotion charges are the part of factory overheads.
The cost which is allocated to a cost centre is a direct cost.

Under Piece rate system, a worker is paid a fixed amount per unit
produced irrespective of the time taken.

PTO.



Q2) Explain the origin, objectives, Advantages and limitation of Cost Accounting.

a)
b)

OR

Explain the use of computers in stores Accounting.

[20]

[10]

List the advantages and disadvantages of piece Rate system of wages.

03) Write short notes on (any four) :

a)
b)
c)
d)
€)
f)

04) a)

Advantages of centralised stores.

ABC Analysis

Job Analysis

Direct Costing

Duties of store keeper

Causes of labour Turnover

[10]
[20]

Following is the information of ‘Original Industries, Amravati’ for the

year ended on 31* March 2015.
Opening stock of Raw material
Purchase of Raw material

Bad debts written off
Travelling agent expenses
Depreciation to office

Rent & Insurance of factory
Productive wages

Directors Fees

General expenses

Gas & water of factory
Travelling expenses - Sales
Sales

Managers salary

(2/3 to Factory & 1/3 to office)

[4963] Ext. - 510 2

62400
259000
9100
10780
420
11900
167400
8400
4760
1680
2940
600000
15000

[15]



Depreciation to Plant & Machinery 18200

Discount allowed 4060
Repairs to plant & machinery 6230
Carriage outward 6200
Direct expenses 10010
Office Rent 2800
Closing stock of Raw material 87920

Prepare a cost sheet showing :
i)  Cost of material consumed
i1) Prime Cost

iii) Factory Cost

iv) Cost of Production

v) Total Cost

vi) Profit / Loss

b) Annual consumption of the material is Rs. 180. The ordering Cost is
Rs. 2 per order. Price per unit of material is Rs. 0.32. Storage cost is
25% per annum of stock Value.

Compute Economic order Quantity. [S]

05) a) From the following information to material - A045 of national Industries,
Prepare a stores Ledger Account for the month of March 2016 on the
basis of weighted Average method. [10]

1 Purchased 100 units @ Rs. 10.

2 Purchased 200 units @ Rs. 10.20
S Issued 250 units

7  Purchased 300 units @ Rs. 10.50
10 Purchased 200 units @ Rs. 10.80
13 Issued 200 units

18 Issued 200 units

20 Purchased 100 units @ Rs. 11.00
28 Issued 150 units

[4963] Ext. - 510 3



b) The opening stock of material with Amit Industries was of Rs. 10,000
and closing stock amounted to Rs. 6,000. The company made Purchases
of Rs. 52,000 during the period. Compute the Inventory Turnover
Ratio and Inventory Turnover period considering 366 days in a given
period. [10]

06) Time Allotted to Complete a job — 50 hours Job is completed in 48 hours.
The rate per hour is Rs. 10. Compute the earnings under halsey premium
plan of 50% sharing and Rowan premium plan. [10]

363838
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Total No. of Questions : 5] SEAT No. :

P1195 [Total No. of Pages : 4
[4963] Ext. - 511
S.Y. B.Com.
STATISTICS
Business Statistics (Special Paper - 1)
(2013 Pattern)
Time : 3 Hours] [Max. Marks : 100

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.
3)  Use of statistical tables and calculator is allowed.
Q1) Attempt any five of the following : [2 each]
a) Given N = 50, () = 28, (B) = 30, (o) = 13, find (AB).
b) What do you mean by an attribute?
c) Give any two illustrations of a time series in real life.
d) State the components of time series.
e) State the utility of life table.
f)  Given T, =52, [, = 41, find expectation of life at age 52 (e°,,).
g) Given a = 0.4, Estimate the profit for the year 2012 using exponential
smoothing method for
Year Profit(in crores)
2011 6.6
2012 8.2
02) Attempt any four of the following : [Seach]
a) The following is the information on literacy and mannered people.
Employed graduates = 286
Unemployed graduates = 48
Employed un-graduates = 450

Unemployed un-graduates = 216

Determine coefficient of association between Employment and
Education.

PTO.



b)

d)

Given r,

=059, r

> 713

Fill in blanks in the following table marked by? sign.

=046 and r, = 0.77, find ), and R ,

Age I d q, p, L, T,
56 | 45139 ? ? ? ? | 691422
57 | 43729 - - - - ?

Define the terms:

i)  Negative class of frequency

ii)

1i1)) Second degree curve

Additive model of time series

Write the equations of three planes of regression with variables X, Y
and Z. State any two real situations from multiple regression.

Compute the CDR and STDR for two population A and B taking
population A as standard population.:

Age group A B
Population | Deaths | Populations | Deaths
Under 10 900 12 800 32
10-20 1500 8 3000 12
20-60 4500 38 4800 48
Above 60 600 30 1400 42
03) Attempt any four of the following : [S each]

a)

b)

Obtain the dual problem of the following L.P.P.

Minimize 7Z = 3X1 + X2

Subjected to constraints:

X1+X221

2X, + 3X,> 2

X, X,>0

Describe seasonal variation’ from time series.

[4963] Ext. - 511
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c¢) Write the procedure of finding optimal solution to an assignment
problem of minimization type objective function.

d) Fit a trend line to the following data by least square method.
Year 1998 1999 2000 2001 2002
Production 12 20 28 32 50

e) Obtain initial basic feasible solution using Matrix Minima method for
following transportation problem.

Markets— D, D, D, D, | Supply
Sourcesy
O, 19 30 50 10 7
O, 70 30 40 60 10
O, 40 8 70 20 18
Demand 5 8 7 15

Also find the corresponding transportation cost.
f)  Solve the minimal assignment problem whose effectiveness matrix is :

I I I IV
A 2 3 4 5
B 4 5 6 7
C 7 8 9 8
D 3 5 8 4
04) Attempt any two of the following : [10 each]

a) Given N = 1800, (A) = 850, (B) = 780, (C) = 326, (ABy) =200, (ABC) = 94,
(aBC) = 72, (ABC) = 50. Find all the remaining third order class
frequencies.

b) Find 3 - yearly moving average of the number of students studying in
a college shown below :

Year 2000|2001 | 2002|2003 {2004 | 2005|2006 |2007 |2008 2009

No.of 33 31 35 39 40 40 41 41 40 43
Students

Also plot trend values with original observations on same graph.
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c) Obtain the initial simplex tabular for
Maximize Z = 4X + 10Y
Subjected to,
2X+Y <50
2X + 5Y < 100
2X +3Y <90
X,Y>0.

05) Attempt any two of the following : [15 each]

a) Given the following information find equation of plane of regression
of X, on X, and X,.

Variable Mean SD Correlations
X, 6.8 1 r,= 0.60
X, 7 0.8 r,=0.70
X, 74 9 r,, =0.65

b) Calculate G.F.R., T.F.R., G.R.R. and N.R.R. for the following data.

Age group | No. of Women | No. of live | No. of live [Survival Rate
(in years) (in 000) Male Births | Female Births
15-19 25 400 400 0.96
20-24 20 1300 1100 0.94
25-29 18 1100 900 0.92
30-34 15 700 800 0.90
35-39 12 200 300 0.88
40-44 6 65 55 0.81
45-49 4 6 4 0.83
c) Following is the basic feasible solution of certain transportation problem.
Markets— D, D, D, Supply
Sources{
0, 27106 [7] [+ 5
0, 3@ [3] @ [1]® 8
0, 5 41O [1] 7
0, 1 (6] [2] 14
Demand 7 9 18 34

Is this solution optimal? If not find optimal solution using MODI method.

333
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Total No. of Questions : 5] SEAT No. :

P1196 [Total No. of Pages : 4
[4963] Ext. - 512
S.Y. B.Com.
BUSINESS ENTREPRENEURSHIP
(2013 Pattern) (Paper -1)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term 'Entrepreneur' and 'Entrepreneurship'. Distinguish between
'Self Employment and Entrepreneurship. [20]

OR

Explain the Entrepreneurial Career of Sahkar Maharshi Bhausaheb Santuji
Thorat, Sangmner.

02) Explain the terms Creativity and Innovation. State the Do's & Don'ts of

Innovation. [20]
OR

What is 'Business Ethics'? Explain the nature and principles of Business

Ethics.

03) a) Write a detail note on Entrepreneurial Behaviour and Entrepreneurial
Motives. [10]

OR

Define the term 'Social Responsibility'. Explain the Social
Responsibilities of Business towards Government & Society.

b) What is 'Business Process Outsourcing'? Explain its advantages. [10]
OR
Write a detail note on Group Entrepreneurship.

PTO.



04) State the Opportunities to Service Industry in rural & urban areas. [20]

OR

What is 'Franchising'? State the advantages of Franchising Business to the
Franchisee and Franchisor.

05) Write short notes (Any four) : [20]
a) Need of Entrepreneurship
b) Contribution of Dr. Vitthalrao Vikhe Patil
c) Nature & Scope of Self Help Group
d) Social & Political challenges in Entrepreneurship Development.
e) Types of Service Industry
f)  Importance of Self Help Group

363838
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Total No. of Questions : 5]

P1196
[4963] Ext. - 512
S.Y. B.Com.
BUSINESS ENTREPRENEURSHIP
(2013 Pattern) (Paper-1)
(FS EaTR)
3% : 3 ar] [T 7or : 100

gEar:— 1) ad gv7 @islan Jravasd Siig.
2) ITFIHSIT 37 Gul OT FIEATA.

gy 1) IENSTehdT SATUT I2NSieh Eel SATEAT 1. TSR & IeSTehdT dATdiel Wleh T8
. [20]

fema
AghR WgHl AISATRS TSt oI, WA, e IeAfhd hiRiche TIE &,

y7 2) FafAwtdt o At sraT 93 g . AaHHE T hiaTT ShiuTeT TSl ATaS hedTd
SATIUT RITTEAT TSY STeBTeATa o ERTI. [20]

Teran
s fAfiges o @@ ? e fifeges @ wew enfin e Tw @@L

gy73) 1) SENThT WM F IR gd4 qrar Afeear a forer. [10]
e
ATHTRNS AR il SIEAT 1. TR d AHTATIA STaETaTe AT
TSI TS .
) o SarY Sa|rd Uihal WU i ? WY WS T . [10]
e
amgfEe IeNsTehar ITar Al feu forar.
3



gv7 4) wigh a JtHor San sgaarErean |t afaer o [20]

e

AT U T ? AGHTIThRTE STAHTIT R R SUMTTE d STaATIT R
Tresfaumame fieum wrre e w0,

gy7 5) feur forgr. (soreard =) [20]

)  IJeTeRAEl TR

=) =i fogena for@ wite T dwem

*) T GEEAT e WEY T TH

T) IEihT TRt HTHINTS o TSIThT TSEH
3) WA HEEET THR

W) WE HgEdl e HEe

L
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Total No. of Questions : 5] SEAT No. :

P1197 [Total No. of Pages : 3
[4963] Ext. - 513
S.Y. B.Com.
MARKETING MANAGEMENT
(2013 Pattern) (Special Paper - 1)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Marketing Management. Describe Marketing characteristics in Indian
context. [20]

02) What do you mean by Marketing Environment? Briefly describe the current
marketing environment in India. [20]

OR

Describe the Marketing Communication Mix.

03) a) Explain the elements of Services Marketing Mix. [10]
b) Describe the present status of e-marketing in India. [10]
OR

a) What are the problems of rural marketing in India?

b) Describe the role of marketing manager in Green Marketing.

Q4) Describe various factors influencing consumer behaviour. [20]

PTO.



05) Write short notes (Any Two) :

a)
b)
C)
d)

Marketing Communication through product cues
Features of Services
Importance of Green Marketing

Types of Buying Motives

2
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Total No. of Questions : 5]

P1197
[4963] Ext. - 513
S.Y. B.Com.
MARKETING MANAGEMENT
(2013 Pattern) (Special Paper - 1)
(FET wUTaR)
3 : 3 ard] [Tor 79 : 100

gEar:— 1) @ 97 @isao HiHard Hg.
2) IFFIHSIT 3k TIAIR Ul JOT FeIfaara.

gy7 1) Taqum STaEuAT=l A . AR Hedta fague=h afvem aviw . [20]

gy72) Tauum vaieru WU R ? WRATdS d2 fROue g9ieruer oeet auie . [20]

feman
Terum weviaes fussr i .
yy73) @1) ¥ar fauue s gew ausTem . [10]
)  WRAT 3-ATheTE wa ferdt aui . [10]
feman

) WRATAT UTHUT fegumT=aT shivren awn Rd ?
) gia fuummes fauue soeeemuehTe giHeT Jui .

T97 4) UTgeh FaATaR aionH o fafay wew auiw . [20]

Ty7 5) ofedaTd Etur Torgt. (Riuredt i) [20]
) T TWEHUTIEA IR Tauu devrag
q) Haret T
%) gha feuomm vge
3)  wdrem ¥
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Total No. of Questions : 8] SEAT No. :

P1198 [Total No. of Pages : 4
[4963] Ext. - 514
S.Y. B.Com.
Economics
AGRICULTURALAND INDUSTRIAL ECONOMICS (Special Paper-1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  Question No. 1 is compulsory.

2) Attempt five from question No. 2 to 8.

3) Figures to the right indicate full marks.

Q1) What is Agriculture Economics? Explain the nature and scope of Agricultural
Economics. [20]

02) State and explain the role of Agriculture in Economic Development. [16]

03) What are the advantages and disadvantages of the large size of the farm?

[16]
04) Explain the scope and significance of Industrial Economics. [16]
05) Explain the factors affecting optimum size of firm. [16]
06) Answer in brief : [16]

a) Explain the causes of Industrial monopoly.

b) Explain the nature of demand for Agricultural product.

PTO.



Q7) State and explain the weber's Theory of location of Industry. [16]

08) Write short notes : [16]
a) Types of diversification of firm.

b) Industrial Efficiency.
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Total No. of Questions : 8]

P1198
[4963] Ext. - 514
S.Y. B.Com.
CIOMILC]
THET SATIUT STETTeh 3TLA9TE (FU9TA U -1)
(2013 ¥e)
(TSt T aTR)
d= : 3 ard] [ wgor 7or - 100

gEar :— 1) TUd 97 a1 S8,
2) UIT HHIF 2 @8 qrddbt HIUIdgt grer 9T @igar.
3) ITHIHSIT 3k TIATE YT FI1AATA.

g7 1) FH ALV TEUR H ? FHt AV TIET ATT ST TAY . [20]

97 2) ek farermaTeter vieitent it @nm 9 TU® . [16]
T77 3) VaATUHI=AT WiGAT ATRRAHT HES—dle TE &, [16]
g7 4) SArenfier srelvmEm=l suTd & WEed TY wWI. [16]
T¥75) UATH TRTHHTET ITNTEEIET TRUMH HIUTR Ueeh T . [16]
97 6) ArEFATd I A [16]

1) IATENfiTeh Akl RO TIY .
) Wl IATEATAT AU T TIY R,



Ty 7) Sawrean wum-fafyaden dewen faga amm. [16]

gy7 8) dseta diut fergr. [16]
a1) Ienmaere fafasdieom ger
) ftenfiew swrEeman
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Total No. of Questions : 5] SEAT No. :

P1199 [Total No. of Pages : 4
[4963] Ext. - 515

S.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
(2013 Pattern) (Paper - I)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) : [10 x 2 = 20]
a) State the meaning of budgetary perspectives
b) Define Logistics.
c) State the meaning of public sector undertaking
d) Define Threat perception?
e) Write any two merits of war time economy
f)  Define war potential
g) Define self-reliance
h) Define Zero budget
1)  Define economic power
7)) What do you mean by war finance?
k) Define national security
1)  What is deficit finance?
m) State the meaning of productive Defence expenditure

PTO.



02) Answer in 500 words (any one) : [20]
a) Explain determining factors of defence expenditure.

b) Analyses India’s defence expenditure from 1990 to present day.

03) Answer in 500 words (any one) : [20]
a) Describe relationship between Economy and national security.

b) Describe role of D.R.D.O in India’s Defence production.

04) Answer in 500 words (any one) : [20]
a)  Write in short salient features of Indian Economy.

b) Describe challenges to India’s external security.

Q5) Write short note on (any two) : [2 x 10 = 20]
a) Merits of peace time economy
b) Importance of zero Budgets
c) Causes of increasing defence expenditure

d) Impact of war on Armed Forces

L
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Total No. of Questions : 5]

P1199
[4963] Ext. - 515
S.Y. B.Com.
T ST wEEATA 38 WA
(2013 Pattern)(Quz - 1)
(TSt TUTHR)
3z : 3 amE] [wgor 707 : 100

gEar:— 1) ad gv7 @islan Jravasd Siig.
2) IFFIHSIT Ik YT FIIAATA.

FyT1) 20 YegTa IW AT, (UL T2T) [20]
3r)  Feed THuFieg ot forat.
q) YIESTHETAT SHTEAT .
F) Usciiehudret 3T = o1ef fotar.
) e fawfielt deheunt e .
%) ggeTe s wRd e .
W) ggamar e o
J)  SrreufAsiar sarEEn .
1) ISR Sreitiehed SATEAT =T
@) ““orrfeles wmed’ saTEAT =L
q) ggHeh wos wE ?
W)  TER e s .
g) ‘‘edhifee v’ wue wE ?
W)  IedgeRrd W TH e forar.



797 2)

797 3)

777 4)

97 5)

500 vrseTa IW AT, (HIVAE Teh) [20]
) TRETUTTERI T fAaiia SR gesh T8 .
F) 1990 UTgA W ATSTUHaeaT HRATSAT TReIUN Ot @eie fageivor &,

500 vrseTa I AT, (HIUTAET TeHh) [20]

3T)  UEA FREAT IAMUT FHTEAT ATAA ST qUH Sl

¥) HRATSAT TGV IeATSATATer EGTUT WoneA ot faemmar waeaq fmior shean
AR T AT

500 vrseTa I AT, (VTS Teh) [20]

) YR STfTaEdD Iebeh UTUH UreFITd fetgt.
¥) WRATEAT SiETa GRAE T — Fuia .

oNgeRITa drar fergt. (ST 3e) [20]
3T)  VITAATSRTEA STefeaaese TurerHd

q) AU reiEwedT™ W

®) TRV T arguaTel Rl

T) YTE HIEEATEATR TR gRumy
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Total No. of Questions : 9] SEAT No. :

P1200 [Total No. of Pages : 4
[4963] Ext. - 516
S.Y. B.Com.
INSURANCE, TRANSPORT AND TOURISM (Paper-1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  Question No. 1(One) is compulsory.

2) Solve any five questions from Q. No. 2 to Q. No. 9.

3) Figures to the right indicate full marks.

Q1) What do you know about Life Insurance Business? Describe, the working

of Life Insurance Business in India. [20]
02) Define Insurance? Explain the Basic principles of Insurance. [16]
03) Distinguish between Life Insurance and General Insurance. [16]

Q4) Explain the Role of General Insurance Company of India (GIC) in Insurance
sector. [16]

05) What are the challenges before Indian Insurance Business. Explain in detail.
[16]

Q6) Describe the impact of Tourism on Indian social and cultural aspect. [16]

Q7) Define Tourism? Explain the various types of Tourism. [16]

PTO.



08) What is mean by Tour operator? State responsibilities of Tour-operators.[16]

09) Describe the significance of Tourism - Accommodation for the Tourists.
[16]

L
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Total No. of Questions : 9]
P1200

[4963] Ext. - 516
S.Y. B.Com.
INSURANCE, TRANSPORT AND TOURISM (Paper-1)

(2013 Pattern)
(FS EaTR)

3= : 3 ara] [ wvr 707 - 100
gEar:— 1) T97 &. U ISl JTavaeh HTg.

2) H¥T . 97 T . 7% TYT HIVIAGT GTE TIT IS

3) Iwdimsier de gt ot FVifaara.

Ty7 1) STGMAHT STEETT TTEES TN ShId FIUTAT ? WRATA I STIGHT SHaTare! shiH ARt

ferore =T [20]
gy72) ‘fomr I amwean anm. ot geracd WY . [16]
g7 3) SIgfaHT AT TEETIReT ot ATefter Wk /| AwRTad TUSE . [16]
g7 4) fomn e AR w9 drerer o shueiel sreeett it T . [16]
gy75) v foun sraaman auifier el TTeg, ARy TUE . [16]

99 6) WRATEAT ATHTNTR ATUT HiEehideh SIATaR TdeATan STeeien gama fave &, [16]

97 7) UdeATE SHTEAT AR[H, e Heiel fafae T T8 &, [16]
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g978) “TTE-3IR. WU 1T ? ATAT- 3T Teh =T AaTagr=an |, [16]

Ty 9) UheHTEAT YA THeA - HaHeaad™l e W favig . [16]
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Total No. of Questions : 8] SEAT No. :

P1201 [Total No. of Pages : 4
[4963] Ext. - 517
S.Y. B.Com.
COMPUTERAPPLICATIONS & PROGRAMMING
VBSCRIPT & RDBMS (Paper - 1)
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions to the candidates:

1)  Question No. 1 is compulsory.

2) Solve any five questions from Q. No. 2 to 8.

3) Figures to the right indicate full marks.

Q1) Attempt any four of the following : [4 x 5 =20]
a) Explain vbscript syntax with example.
b) What is RDBMS.
c¢) How to insert comment in VBSCRIPT.
d) Explain placement of vbscript in HTML file.
e) Explain classification of SQL commands.

f)  Explain sequence and synonyms in SQL.

02) Attempt any four of the following : [4 x 4 =16]
a)  What are the rules for declaring variables in vbscript.
b) Explain any four scalar function of SQL.
c) What is primary and foreign key of SQL.
d) Explain Scope of variables in vbscript.

e) Explain Grant and revoke command of SQL.

PTO.



f)  Trace the output of following vbscript program.

<Script language = “vbscript” Type = “Text / vbscript”>

Dima:a=20
Dimb:b=15
Dim ¢ :
c=a&hbh.

Document. write (c)
c=a+b.
document. write (¢)

</Script>.

03) Attempt any four of the following : [4 x4 =16]
a) Explain nested if statement of vbscript.
b) Explain any four mathematical functions of vbscript.
c¢) What is an Array? How to assign values, to an array in vbscript.
d) Explain index and views of SQL.
e) What is Union, Intersect operator of SQL.

f)  Explain like operator with example.

04) Attempt any four of the following : [4 x 4 =16]
a) Explain Roll up and cube operator of SQL.
b) Explain syntax & purpose of following commands.
1)  Alter
i1) Drop
c¢) Explain select command with all options in SQL.
d) Write any four string functions of vbscript.
e) What is event? Explain any four mouse events of vbscript.

f)  Explain select case statement of vbscript.
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05) Attempt any four of the following :

a)
b)
c)
d)

06) Attempt any four of the following :

a)
b)
c)
d)
e)
f)

Q7) Attempt any four of the following :

a)
b)
C)
d)
e)
f)

Explain any four string functions of SQL.

Write note on unique check constraint of SQL.

What are the restrictions for Alter command in SQL.

Consider following table and solve the queries
Salesman (sno, Sname, Sadd, Sell amt)

i)  List name and sell amount of all salesman.

i) Delete record of salesman whose name is Akash.

ii1) Add 10% incentive to sellamt of all salesman.

iv) Display name of all the salesman whose Sellamount is less than

1000.
Explain various arithmatic operators of vbscript.

What is Inputbox () & msgbox ()

Explain various data types of SQL.

What are the logical operators of vbscript.

What is DOM.

What is constraint? Explain Not Null constraint.

Explain Components of ODBC.

Explain Difference between delete & Drop command of SQL.

What is dual table of SQL.

State different types of Joins?

Explain In and Between operator of SQL.

Write various keyboard event of vbscript.
Explain top down Vs event driven programming.

Write rules for declaring variables in vbscript.
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08) Attempt any four of the following : [4x4=16]
a) What is MINUS operator? State its syntax.
b) What is function and procedure of vbscript.
c) Explain Numeric & literal constant of vbscript
d) What is ODBC? Give its architecture.
e) What happens to indexes when table is dropped.
f)  State the difference between NOT EXIST and NOT IN.
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